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ZHERLA 6 TSR B Ty OEGERE; KA Z OB BRI,

G+k %6 =1/100 % 10

i<10000

~
1]
|
~
S =

int i = 1000, j, k, count = 0;

l

int num, i

return 0

(j+k %6 =1/ 100 % 10 & isPrime(i)

count+t;

!

return
count;

A
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SRFFE Tx-y=3, x. vy {E[—50, 50] NIEA £/ 20 BHfRe

int count = 0, x = =50, y = —50;

4

X+t

x<=50

Y

Y<=50 ——b oyt

) 4

7T*%x - y=3

A 4

count++

A 4

printf ("\nFFEH %dZH S . \n”, count);

3. 2.3 A%
BE S=142+3+4+++-4n, n NIEEE, KRAE S HT 100 (S>100) HIH /M n.

int n
int s

o O

A

sum += n;

n++; N

sum <= n ?

Y

y

printf("\n&Z N%d\n”, n-1);




3. 2. 4
MEERL BRI 15 N aa], LU PP R k. (P HEAR, HadAas
HFED

char words[MAX LENGTH];

!

int i =0, j, count;

Yy A

Y
N char words[MAX WORDS][MAX LENGTH];

i+ l
ry

v int i = 0, count;
i++
— stremp (words[i], words[j]) < 0) \ﬁx
i < MAX_WORDS N
y
A 4
strepy (temp, words[i]); "Y
l scanf ("%s”, words[i]);
strepy words[i], words[j]); v
l count = MAX_WORDS;
strepy (words[j], temp);

sortWords (words, count) ;

printf ("\nEAEFEIRAZ R B \n");

printf("%s\n”, words[i]);
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int i =1, j=0, k=0, n, max = 0;

i+t
|
Y
N
Y
N k+t | —————
Y
v

n=13%100+ j * 10 + k;

n >= 100
&&
pow(i, 3) + pow(j, 3) + pow(k, 3) = n
&&

n <= 999

Y
@

max = n;

|

printf ("R KIAKAMTELA: %d\n”, max) ;
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int i =7, x =5;

printf ("%d\n”, x);
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3%

#include
#include
#include
#include
#include
#include

{stdio. h>
{string. h>
{stdlib. h>
{conio. h>
<math. h>
<{time. h>

int mima() {
int i=0;
char user[10]="admin";
char Code[10]="123456";
char getuser[10];
char Getskey[10];
while (1)
{
printf ("\t\t\t F@A\JKEZ: ");
scanf ("%s", getuser) ;
printf ("\t\t\t F@ N\ FL: ");
while (1)
{
Getskey[il=getch();
if(Getskeylil=="\r")

break;

else if(Getskeylil=="\b")

{
it (i==0)

continue;

printf("\b");
printf (" ");
printf("\b");
i—;

!

else

{
printf ("*");
i+t

}

1
Getskey[6]="\0";
if(stremp (user, getuser)==0&&strcmp (Code, Getskey)==0)

return 1;
else
{
printf ("\n\n\t\t\t K5 7 E R E LM ANEIR, EEFHHA\n");
i=0;
}
1
AP BRI E A
void showmenul () {

system("cls");
printf ("\n\n\n\n\n") ;

printf("\t \n");
printf("\t KHAKEICEERFNRZS \n");
printf("\t \n"):
printf("\t \1'1");
printf ("\t X% \n"):
printf ("\t \n");
printf("\t L EZ#HEEAL \n") ;
printf ("\t \n");
printf("\t 2. RECK A 2 \n");
printf("\t \n");
printf ("\t 3. MR A 1 \n");
printf ("\t \n");
printf("\t 4. fE 7T A2 )AL 2 \n"):

13



printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf ("\t
printf("\t

5. %5 K 7

1

6. 57| 2 5] 7 2
7. 857 KA

8. HEF R FIAL 2

9. HA KA1

10. A4 K F L 2
11. #eR 2K 5 AL 1

12. # ok K 7] 7L 2

printf("\t

JHAP R i R A 24 void showmenu2 () {

system("cls");
printf ("\n\n\n\n\n");

printf("\t
printf("\t
printf("\t
printf ("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf ("\t
printf ("\t
printf("\t
printf("\t
printf("\t
printf("\t

\n");
\n");
\n");
\n");
\n"):
\n");
\n");
\n"):
\n");
\n");
\n"):
\n"
\n");
\n"):
\n");
\n");
\n");}

RUKE CHETRFNAS

ixE

L RHKEFA L
3R TAZKIF AL 1
5. B KA A 1

7. HEF R AT

9. HFHEAKF L

11, Ak el AL 1

2. FHCRFE A 2

4. fR R AL 2
6. #k 7 % |7 & 2

8. H /7 & I AL 2

10. #LF 4 A KR 2

12. Ak ol 7L 2

printf ("\t

VS dE o A A E %%/ void showmenu3 () {

system("cls");
printf ("\n\n\n\n\n") ;

printf ("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf ("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf("\t
printf ("\t
printf("\t
printf ("\t

\n");

RAKEI CETRFNAS

|

[

|
5N

/NN

ExE

. FHEFA
. IR K E A
N CAES P

- R A

HFH e KREA

Ak 17 R

XX, FEIRE

[11 [2]
[11 [2]
(11 [2]
[11 [2]
[11 [2]
[11 [2]
[11 [2]

printf ("\t

JrE P 7 A%/ void settingmenu () {

system("cls");
printf ("\n\n\n\n\n") ;

printf ("\t
printf("\t

ADMIN Setting

14



printf("\t \n");

printf("\t \n");
printf("\t ek EEXE \n");
printf ("\t \n");
printf("\t 1. F A5 [1/2#] [20@EF)] [B3[&HR]  \n");
printf ("\t \n");
printf ("\t 2. % FF X [1/on] [2]0fr]) \n'");
printf("\t \n");
printf ("\t 3B FF & [1/on] [2]0ff] \n");
printf ("\t \n");
printf("\t \n");
printf ("\t \n");
printf ("\t Tips: ERRERM A N5 F, flant®E (A4 - [3]1 \n");
printf ("\t ERFHN: 13, BT BB £ A4 H-3. \n"):
printf("\t \n");}
S F) W Z 27+ int isPrime(int num) |
int 1i;
if (um <= 1) {
return 0;
1

for (1 =2; i *1i <= num; i+H) |
it (hum % i = 0) |
return 0;
1

|
return 1;}int countPrimes () {
int i, j, k, count = 0;
for (i = 1000; i < 10000; i++) f
j=1i%10; / MEHFE
k=1/10%10; // +17#5
it (G+k %6==1/100% 10 & isPrime(i)) {
count++;
1

}
return count; | int printPrimes() |
int i, j, k, count = 0;
for (i = 1000; i < 10000; i++) f
j=1i%10;  MEHFE
k=1/10%10; // +17#%5
it (G+k %6==1/100% 10 & isPrime(i)) {
printf("%d ", i);

I

}}oint twinsnum() {

int count = 0; S e A

int 1i;

for(i=500; 1<=800; i++) f{ /3 5 [500, 800] Z [8 793¢
if(isPrime(i) && isPrime(i+2)) {  // @R L #HEFHH T — 1 HEZH w2, JE— XTI E#H

count++; S B ]

}

}

return count; Jint printtwinsnum() {

int count = 0; S R F A

int i;

for(i=500; 1<=800; i++) f{ /1 )7 500, 800] = 5 #9%

if(isPrime(i) && isPrime(i+2)) { // R LFHEFHH T — 1 #HEZFH w2, NE— T FEH
printf ("%d %d\n", i, i+2): VI 0 A ke
}

b tint jiex01() |
int count = 0;
int big, medium, small
for (big = 0; big <= 100; big++) {
for (medium = 0: medium <= 100 - big; mediumt++) {
small = 100 — big — medium;

it (big * 3 + medium * 2 + small / 2 == 100 && small % 2 == 0) {

count++;
printf ("HFZE %d: A% % L, ¥Z % L, /NZ % L\n", count, big, medium, small);

15



}

it (count == 0) {
} printf ("HE A KB AENME. \n");

return 0;}

S * 7 RE 5] AT 2%/

int jiex02() {

int count = 0;

int x, y;
for (x = -50; x <= 50; x++) {
for (y = -50; y <= 50; y++) {
it (Txx—-y==23 {
count+t+;

1

1
1
printf ("\n 72 A% 4%, \n", count);

return 0;}

JSHBEZY T 01%/

int shulie01() f{
double numerator = 2; // 4 F
double denominator = 1; // 44/
double sum = 0; // &7

int i;
for (i =0; i <50; i++) {
sum += numerator / denominator;
double temp = numerator; // /K75 5 FHIE
numerator += denominator; // 4 FZ % E H 2
denominator = temp; // FHIHEE F]— T 4T
!
printf ("& 50 W A 4. % 21f\n", sum);
return 0;}

S*ETY 15 £ 02%/

int shulie02() {
int n = 1;
int sum = 0;

while (sum <= 100) {
sum = n;
nt+;

1
printf("\n &% #%d\n", n-1); /&N K n, & 1+2+3+ ..+n > 100 %

return 0; }

SRS 01%/
#tdefine MAX WORDS 15
#tdefine MAX LENGTH 50
void sortWords (char words[MAX WORDS] [MAX LENGTH], int count) {
int i, j;
char temp[MAX LENGTH];
for (i =0; i < count — 1; i++) |
for (j =1+ 1; j < count; j++) {
it (stremp(words[i], words[j]) < 0) |
strepy (temp, words[il);
strepy (words[i], words[jl);
strepy (words[ j], temp);

1
}1int paixu01() f{

16



char words[MAX WORDS] [MAX LENGTH];

int i, count;

printf ("#EH A 15 A #1E: \n");

for (i = 0; i < MAX_WORDS; i++)
scanf ("%s", words[i]);

1

count = MAX WORDS;

sortWords (words, count) ;

printf("\n L FIF T %13 \n");

for (i =0; i < count; i++) |
printf("%s\n", words[il);

}

return 0;}

SRS 02%/
tdefine NUM_STUDENTS 10 // % 4 A%
typedef struct f{
char name[20];
int studentID;
int englishScore;
int computerScore;
int totalScore;} Student;// [ #c1H#t, /F 7 #/7int compare(const void* a, const void¥ b) {
return ((Student®)b) —>totalScore — ((Student#*)a)->totalScore;}int paixu02() f{
VD PELS &
Student students[NUM STUDENTS];
int 1i;
S R
srand (time (0) ) ;
for (i = 0; i < NUM_STUDENTS; i++) {
sprintf (students[i]. name, "Student%d", i + 1);
students[i]. studentID = 1000 + i;
students[i]. englishScore = rand() % 101;
students[i]. computerScore = rand() % 101;
students[i]. totalScore = studentsli]. englishScore + studentsli].computerScore;

1
S R ESFHSTF
gsort (students, NUM STUDENTS, sizeof (Student), compare);
) Bt
printf ("# 4 \t F 5\t /MBS EH\t T EN 22\t 240 \n");
S BN R R
for (i = 0; i < NUM_STUDENTS; i++) {
printf ("%s\t%d\t%d\t\t%d\t\t%d\n", students[il.name, students[il.studentID,
students[i]. englishScore, students[i].computerScore, studentsli].totalScore);
1

return 0;}

SHERE 01%/
int zuhe01() f{
int i, j, k, n;
int max = 0;
for (i =1; 1<=9; i+t { o/ #LIMEHF
for (j=0: j<=9: j+0) { /&L TEHTF
for (k=05 k <=9; kt+) { / BLEFHHF
n=i% 100+ j* 10 + ks // FE =
if (n>=100 & n <= 999 && pow(i, 3) + pow(j, 3) + pow(k, 3) ==n) {
if (n>max) { // BEFHEAE

max = n;
}

}
}
printf ("F A AMWILL A : bd\n", max);

return 0; }

SHE S 02%)
int zuhe02() {
int count = 0; // HFIERFEFHIITEHIIHE



int i,thousand, ten, hundred, unit;

/18P

for (i = 1000; i < 10000; i++) {
thousand = i / 1000; // Fr# 5
hundred = (i / 100) % 10; // F17# %
ten = (i / 10) % 10; // +10#F
unit =1 % 10; / MEHF

it (thousand + ten == hundred + unit) |
printf("%d ", 1): @R
count++; /) it HE

I
printf ("\n & #EH % X FHTLH . \n", count);

return 0; }

SR O1%/

int wenti01() |
int i, x =5; // #FENXAFEHFELFZFBIHF
for(i =17; 1i>=0; i—) |
} X=x*2-1; /J/ ZEELLELEE

printf ("%d\n", x);  @HER

return 0; }
S5 02%/

int wenti02() {

int n =100;

while (1) {

it (n%2 == 1 && n%3 == 2 && n%4 == 3 && n%5 == 4 && n%6 ==5) {
$rintf("ﬁ%ﬁi§%¢?ﬁﬁﬁ%4\é?@}%ﬁﬁ%: %d\n", n) ;

n—;
if( n==0){break;}
}
return 0;}
JSHTH R 5] kS
int queslib(choice) f{
char text1[] = "[1000, 9999] 3% Bl A [F] B ig & LA T P A4 fF 89 1 1 20, \n
1. AN FE B FZMGRLL6 IENAHETAHKF; \n
2. 2.UBBAFY; RAESZIONRHENEFE R E K, \n";
1 figRgi, TRemEvERERNEERHRAZHR E: 1 F£Z%, \n
2REHD . EWEHKZEHN2 , WHRAZH XA, F[500,800] = [ \n
HE DB, FENEEHTREE. \n";
ARG =R, FEHYHRFHERY, AELNEH—ERY, KEFK—E\n
EARFNEB—FERYHTER S M, HETEEMTE, FEF4E D
g, HEoRAEAEE. \n';
"k HAZ Tx-y=3, x. y &[—50, 50] HiEH % b EBEHmE",
"sk#k 7. 2/1, 3/2, 5/3, 8/5, 13/8, 21/13, +e+ee- Bl 50 A1, \n
CH#E N EJEE ) \n';
"% S=142+3+4++4n, n A IEEZH, RKAES HFIL 100 (S>100) &N n. ";
"R PN 15 N EIE, BEUBFIRFERER. (HEFFEFR, #\n
BAEERD \n';
char text8[] = "EX —EMEHYE, MELATEHERE, ELNBELELTFTEM, WL \n
AL name, xm, HLEF HEANZEN (FEFFRED , HEL2#HT\n
HF, UEFHWIRFIZRERAENERE. (AHELAELTTEA) o \n';
char text9[] = "a. BT1E “AME” BE— A =frdt, HEUBRFH-"RFTZMETZHEAS, \n
ffldm: 153=1"3+3"3+5"3, # 153 & AMfE%k, K[100, 999] = |7 & A &7k \n
WAE4. \n";
char textl0[] = "b. REWMHEHN F I FETAHFHAETHEAHEF S ML FHM, \n
Flgm, *-FWAEk: 9515, 9+1=5+5, R [EFHE XN T E %>, \n
FiEX LW E R k. \n";
char textll1[] = "¥—IEZEH, #THER, SREZHEFEFR—, S Z28#T%5 8 KB \n
F A ZHAFT 1 AEFRT, Kz, \n";
char text12[] = "EHAHEAEN - F—E6N, WREEFSA AN, 2GR —W; wREXREZH, %A \n
FIHEN; wREAETIN, RER W W RERALN, KGR TH; wEE%E\n
SNB, RIS 2. SRR ERFHERAAT 100 A EHNEHE £ P\n";

char text2[] ="

char text3[] ="

char text4l[]
char text5l[]

char text6l[]
char text7[]

18



switch(choice) |

case 1:
printf ("%s\n", textl);
break;

case 2:
printf ("%s\n", text2);
break;

case 3:
printf ("%s\n", text3);
break;

case 4:
printf ("%s\n", text4);
break;

case b:
printf ("%s\n", texth);
break;

case 6:
printf ("%s\n", text6);
break;

case T:
printf ("%s\n", text7);
break;

case 8:
printf ("%s\n", text8);
break;

case 9:
printf ("%s\n", text9);
break;

case 10:
printf ("%s\n", textl0);
break;

case 11:
printf ("%s\n", textll);
break;

case 12:
printf ("%s\n", textl2);
break;

default: // printf("BA#E, FHA1F5Z/HHHF. \n");
break;

}

return choice; )

ST T k)
int main(void) {
system("cls");
int count,i;
int choice,z,c;
printf ("\n\n\n") ;

MM MK KKK K XK \n") ;
printf ("\t\t\t %W EH CIESEEF/Z % \n");
printf ("\t \n");

printf ("\t\t\t [1] £F\n");
printf ("\t\t\t [2] & F\n");
printf ("\t\t\t [3] & ¥\n");

printf("\t \n");
while (printf ("\t\t\t iF#£ . ")&&scanf ("%d", &c) ! =EOF)
{

if(c==1)

{

showmenul () ;

dof{
printf ("\t HANEET(1-12):");
scanf ("%d", &choice) ;
switch (choice)
{
case 1:
showmenul () ;
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queslib(choice);
countPrimes(): // printf("FHEA: [1000, 9999 [ 1Y ] 51 % & LT A5 187+
Egﬁyigéé\nCU%f7\ﬁf§%§?477Lﬁf%%§?2fﬁﬁﬁéézt3ﬁf%?57ﬁ$§%ﬁ?iﬁﬁf§%€2; \n@2)iZ# 2 F 5 K7 FZLPRFEHHH
TN F, \n");
printf ("#EH%d NEFAEHFH T HE 20 \n", count = countPrimes());
count = printPrimes() ;
printf("\n");
break;
case 2:
showmenul () ;
queslib(choice);
printf ("#F£ A% A FAEAEZ . \n", count = twinsnum());
printtwinsnum() ;
break;
case 3:
showmenul () ;
queslib(choice) ;
jiex01();
break;
case 4:
showmenul () ;
queslib(choice);
jiex02();
break;
case b:
showmenul () ;
queslib(choice) ;
shulie01();
break;
case 6:
showmenul () ;
queslib(choice) ;
shulie02();
break;
case T:
showmenul () ;
queslib(choice) ;
paixu01();
break;
case 8:
showmenul () ;
queslib(choice);
paixu02 () ;
break;
case 9:
showmenul () ;
queslib(choice) ;
zuhe01 () ;
break;
case 10:
showmenul () ;
queslib(choice) ;

zuhe02 () ;
break;
case 11:
showmenul () ;
queslib(choice) ;
wentiOl () ;
break;
case 12:

showmenul () ;
queslib(choice) ;
wenti02 () ;
break;

default:
printf ("\t A 417! \n");
system("pause") ;
break;
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} Jwhile(choice);

1

else if(c==2)

{
z=mima () ;

showmenu3 () ;

while (printf("\t iF# & FT: ") &&z==1&&scanf ("%d", &choice) |=EOF)
{

switch (choice)
{
case 1:
showmenul () ;
queslib(choice);
countPrimes(); // printf("FHEA: [1000, 9999 [ 7Y [ 51 i & LT A5 187+
§§%7fg%%\nCU%f7“ﬁ?%%§?i?7Lﬁ?%%9?2fjf@?é%t3ﬁ7%?575§%%ﬁ?§£ﬁf%%§?; \n@2)iZ 2 F 5 K7 FLPRFEHHHF
P H, \n');
printf ("HAH% 4 A S FHT# 4] 40: \n", count = countPrimes());
count = printPrimes() ;
printf("\n"):
break;
case 2:
showmenul () ;
queslib(choice);
printf ("#F£ A% A FAEAEZ . \n", count = twinsnum());
printtwinsnum() ;
break;
case 3:
showmenul () ;
queslib(choice) ;
jiex01();
break;
case 4:
showmenul () ;
queslib(choice);
5iex020);
break;
case b:
showmenul () ;
queslib(choice) ;
shulie01();
break;
case 6:
showmenul () ;
queslib(choice) ;
shulie02();
break;
case T:
showmenul () ;
queslib(choice) ;
paixu01();
break;
case 8:
showmenul () ;
queslib(choice);
paixu02 () ;
break;
case 9:
showmenul () ;
queslib(choice) ;
zuhe01 () ;
break;
case 10:
showmenul () ;
queslib(choice) ;
zuhe02 () ;
break;
case 11:
showmenul () ;
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queslib(choice) ;
wentiOl () ;
break;
case 12:
settingmenu(); //

queslib (choice);:// wenti02 () ;

break;
default:
printf ("\t i A4 \n"):
system("pause") ;
break;
}

showmenul () ;

}

else if(c==3)
exit (0);

else

{
}

printf ("\t\t\t # A4 \n\n");

}

return 0;}

showmenul () ;//
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